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IMPORTANT NOTES

(A) Please fill up the OMR Sheet of this Question-Answer Booklet properly before answering.
T TR H e 6 B @ UH 3T Wl 31t UL, U I well TR R S |

(B) The question paper is divided into different unit and parts. The number of questions to be attempted and their
marks are indicated in each unit and parts.

e fafir g od amt | faf & | T g ua am A ¥ R ST are Ul @ S ST S o 59
ofe ua v 7 e i e ¥

(Cy Attempt answers either in Hindi or English, not in both. For Language Papers, answer inaconcerned language
and script, uniess directed otherwise to write in Hindi or English specifically.

ST st ar fedt o @ et o A SR, SR 9 @ 1w e wel & SR S Aas o F far o g
feu =mE, == o o woT foeiw & fow o @ &t an ofiet o S92 & fau = foran Tangt |

(D)  The candidates should not write the answers beyond the prescribed limit of words; failing this, marks will be deducted.
anafeat it ot IaT Fifia wisi =t W | aqﬁaﬁag%@mm%q | THHT oo FL WY 3 i W |

(E) Please write answers only in the prescribed space of booklet. Do not write any markyof identity inside the Answer
Script (including Paper for rough work) i.e. name, address, telephone numbér, Name of God etc. or any irrelevant
words other than the answer of question. Such act will be treated as unfairuneans. The Commission may also
deduct 5 marks from the marks obtained, if Roll Number is not filled ¢6rrectly on the O.M.R. Sheet.
feralt oft 19 o IR S Qe A Tt R wE o+ e O (@ PR S T i) o 3ET W ot ST
et ART AT A BN TETH T T — T H A, G, GOPRTER, 2aeieh A0 a1 g of e ¥ Rt
V=, 9 O o7 AT A TR | O R O T e SN ST T ST W H BF S | SR e W I
TR T ST A T ST ER SHE WG A 5 37 e S W § |

(F) Candidates are directed that they should not write (ansWer) out side the border line in every page. Answer written
out side the border line will not be checked by the Examiner.
anafigt Bt R fear strar ¥ f wvaaR ofias T Es IR o 991 TS e oA | ST UeeR 6 o | e
W & aet foid T ST ) odlers g i SR

(G) Ifthere is any sort of ambiguity/mistake either of printing or factual nature then out of Hindi and English version
of the question, the English version will ‘betreated as standard.
afs et we § FoRel TR B FE gEuT @ aegRaS YRR Al @ A WA % st au st waeed °§ § sst
T A B

(H) The Question-Answer Booklet is‘provided in a sealed envelope to the candidate. Candidate must sign the
declaration as per directions printed on the envelope and return it to the invigilator.

arft Bt g Jiasnaiees fawns o v &) T & 1 enaell fewnk we sifea Fdel @t uget S WX FEmRE
F A 3T R ey Framg =T

()  Candidate should filV'up all desired details on this attached OMR sheet of Question-Answer Booklet with blue
ball point pén. Please ensure that this OMR Sheet is not torn or damaged.

weAToR IRE F FUC Fe W 0., T W Wt sifed favor e die 37 ¥ gewEgEs wi | e
@ 5 97 3N TSR, T FEl @ H-He T2l argar vt | wpr & atfoma =2 &t |
(3)  This OMR Sheet consists of Twe parts, in which some information is pre-printed; remaining details have to be
filled by the candidate.
T% AUR.AX, T & A ° e €, Fred siova et w@afi § 1 9w @ o enadt S wei €
(K) If the Question-Answer Booklet is torn or not printed properly, bring it to notice of invigilator and change the
Question-Answer booklet, otherwise the candidate will be liable for that.
HYATaT QT el & Felwet a1 anfed B, at afisR & e | o § own 39 SR o, S SHe! e
szl & g |
fasie e ;
el gry AR 3N TH. AR, 95 T e G Rt e & 47 34 Tl v @l s wgE ot & ot S Wt v W
e fae aifa v < &, &t T g wyvl sl &g snafaar e St S we siv e fo anaet Saver g o
Special Notes :
If there is any wrong information filled by the candidate or any attempt is made to damage it or any marking as identification
is done, then his candidature for the entire examination shall be rejected by the commission, for which he will be liable.
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Paper -1 GENERAL STUDIES & GENERAL KNOWLEDGE

(Total 200 Marks)
(Total 48 Questions)
Unit -1 (75 Marks)
@Fez-1 (75 3i)
Part- A Marks : 10
AT - 3 ah: 10
Note : Attempt all questions. Answer the following questions in 15 werds cach. Each question

carries 2 marks.

e T U & IS T U I 15-15 TRI A T | U uv %2 31 M| €

I.  What is the significance of Ghosundi Inscription ?

maﬁé@wwnﬁv
G hapuweld \'Mm‘{%\ow Woh foundh Im Wi mbakeda CCIM,E(:@\?M,L\\

T& '\—ekl/s a)povxi' Preo wv\?\'r\ of Chrovhavs of Soldambhand
T 345 Sk ’H'\wa o (ot Raghnadn o -

2. Write theanameés of any two ‘atheistic’ religious sects of India other than Buddhism and
Jainsim®

O ¥ g e A 99 & stfafiad el o §f ‘riveRany @ibs aormEt % 9W fafay |

1 Crarwiak et a pibions  seck ek Midwk belue
i Ged- Protar e seck i Pedha S Sod " hch
belbioved im G avd bhnabh  desibion.
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3. Mention any two Persian works written during the reign of Akbar.

HheT & Bt § for@ 7T g GRE TR T Soeid Wit |
%{; Akh o man wm-&% )02 Pflo*\i 921 AI'M—A\&J:WM'

awother sy, M&;«Jw oorfe o‘w%?w of Weben

4.  Who was known as ‘Frontier Gandhi’ ? Which party/as formed by him ?

‘Wﬁ’,%m@ﬁMm?WWWWWM?
Yoan Modid Caflou bhan  was known an ' Browhies

CAwJ]M" whe ‘EMV\EJX o ahJaO\M‘\i'\"oh V\a\vv\uA\ H’\\atg.a\/\
k\/u‘o\wv&aﬂx&‘ Tk Wo);lcea){ m NQ$’WM+ f{;wwﬂ-\m_ SN S

Tﬂ— wian ¢ ?/\D-—[ON;M 0/2?4“455«)‘1'034 )

5. Explain{the meaning of the term ‘Whiteman’s Burden’.

‘YA TOHR SIS 3T TI ST |

Eunspean_pespel 59&:10\.“/1 Bohhers  comsidered
Q/R\WL&) c»«Unu.gxMA c,w'PeMo)L o ohy 'Pao;?ﬁe of He
wordd - “Wwb\ COM\'XM i Ben \fuu’.%MlL\‘% to
soehine pesple A oher condivords m culbwand ond ke

e“b\c dowain. Tk was called " Whdomm's burden
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Part-B Marks : 25
ar-q 3F 25

Note : Attempt all questions. Answer the following questions in 50 words each. Each question
' carries 5 marks.

Cira T O & IS | A 99 6 ST 50-50 TSI A S | I0F U & 5 3 i |

6.  Discuss the salient features of the Fort architecture in Rajasthan.

T & 1 W0 H e faeiaaisti s fae= i |
Lospitfon hos s Atodlnbion ot _fonk crdliideihne

mbM- {:com W—MQJAWJ vernod. Sohentk feolbnnn of frke
b beipties e YLl shepliaTins Lt ploce
+p \we WV@\DM% %MGAUWA; aW\MW\Mg’ fﬁbﬂmm
v

Ab}%g%&/}é TT/\QQ wuue chstnsthed on /slr/wiesmc
locatinrd  sudh an on s )Mq&w«% 0 Hat M(oa&[
P\cw duel asle of AMZ «»«A suves bhwee N\omL of
f\fLa ks have wodwiedd W'LQCMWW«@{ Hoon such
o Yponcher, furedks, A\%cd} Ipa)ﬂ«/g e

7. There was a rich tradition of Nlrgﬁna Bhakti® in medieval India. Explain.

HEARICH ST B {07 wiioRr” oh, i ROy it | T T |
| TV) W\&GJJ\&VJ L\«JM\ {%L\_ﬁj{/@‘\ W\o\IWVOQ' ek AAVIGQ'QJQ \J(u

ko shavds, the Skas’\uw\}aw* Yoo pirer Nw\t«w\ NlMuv«ﬂ
Bhald WPO\'\PJS ’iy we) Hok Cod i lem aN,Q
'H\M"%A/\ Q)monlf\ ornd  meddebon ovJ)v] one can wwuﬂq( CI/A
MS’W Kabva, Nanak, Dadu, Rmaf’aa leepa voeme He waiy
Aomnds of /\)umum Bhokbi 'ﬂ-\% reed pa@a gww\ TP
Jywqmwe aMl\ uwuveMDMJa)e M»l'vmb LMmes @pz
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8. Highlight the similaritiecs and differences between the Bundi and Kishangarh schools of
Rajasthani paintings.

e Fere i 4t e R el 9 e i R o) Y T
Bundi zMe of .pm‘»Jn‘wx We) 4 },MLMﬂ of Dadank’ AH& or.
om-«kwm winizh Flomwbepl AW‘M‘“’] Y rfe,lo.v\ MC5M44\«
Swy\x\ aw( Ummed Sn«q)q Tk Qma’ on —HrLAv-Lwc% JAke
omdnhg o«ba&g}.w )/\uvuo'\v\g scemer eke wkuuw %uol«.w!.,
lDe, of ths’c\v? oy 4 swb-schood oFN G Mv\'a whel,
WSS \mewseiH infleemced )9\4 UaUAJ;W«AU& JE: Q:Cl»d(:ﬂl
V%
A0 subiecks /UL& Kashia B\m.U%\ ekt Scerers e .
Sindondy also cam be ohpowwed a5 beth IS*)-‘V».\% M«M w52 of

7
sion and wed (lord v ablnddnce ana bt shew sich deddiv of
v Layay Yogy-

Paper-I 8

9.  Discuss the contribution of Shahjahan in the field of Mughal Architecture.
T TTIIhen | YESTel ai R i fademn wifeg |

§M}M O{’J\Acx)\ 1 known oy godoten ﬂ@/,?pp of M\M‘VYMJ
oozt e ol Gsend e | lesacy of Mw scheckd
ad coqsrmé—gl/)‘mﬁm wuﬂamﬁwnq’ bwiobvys TMMM
Led Gk, T MMHJ MoN syt ane sove nofable
Qxa«mp\e,\ He ),’wwsui Yo w\»sa\'\NQ Yodihon of CM
PJA!\\JZM . WAM% Mq oy Mahad - e e, PJ(OM.((
do oy ounghitecks m( Yool Pmom«J wprwf im

anchdkechne - S0 we ean comchude Brok b condiibidion i ?Muaﬂi}),
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10. In what way the revolt of 1857 was a turning point in Indian history ?

g yr 1857 # fagie uds siderd ¥ uw fHurias oig o 2

Donoll of 857w M(\%% w\u}o;;, everd whain Ty
Q/-\'oolf— Yo 4 nevofndivg mauw)‘}' @/wlw)q Ed«/l Th Wy 4 &W?
poved in Tonsbiom mm; becanse Th »J@?WM ot
loaJ ~eyslomee 4?411»44 Brihishorns. Dlber Mo senolk, Eeut
Tindia Lavapors weo borced Ao oive corparad Baiksh Zw\/e)wrw?
and @M?"\élﬁ a\ovww /))rw lz}lomm A Pubcw ot

non- M}wﬁmce wnd dinde rand Me - Tindviom N

Movanend alyo Jrsace/) e ool in Hus  Aensladion do come ededf.

Part-C Marks : 40
YT - | 3® : 40
Note : Attempf all questions. Answer the following questions in 100 words each. Each question

carries 10 marks.

e Wt el $ IS | B e 1 I 100-100 ¥R H T ) vels uRA % 10 3f Fruifia ¥

11. In what¥way the advent of Mahatia Gandhi transformed the Indian Nationalist
Movement into a mass movement > -

HEIeT e & ST A Wt UL STIeH $ fhd JhR U 517 AT a1 i 2

Mansdena Gavdhi e Ao Todida from Soubh Abudca im
1915/- H& 1V\A’)7ﬂ/u"1 /L#d[‘nfe' ‘QMV\Q% O\O\V\Ao\/\ J\Lom} T\—\J/MV\
;Jm»alo)\e Agéuws’)" @M}v;)\a/us and )rfavab(eJ & CYo/h )em)r’l«




T

mindaed . Re led MHoee wiovemends m  1517- 18 hamely
C\mmgmwﬂ\wwudn, Lf\i\}/géﬁ sm%le , A\meASZX Ml
Shule. T Yo movermerds he wred b f)‘ec)"m'zu\q ot
'QMM and  vesdned Mok Tolion bsser have
ahM O,vaiﬂd Ly beco WV\(f/J mmLf/)%Aé 2t Az edlom
Fak}w
Bebone b adiork o Go, Tudow, Nkl

/wy'vws oA 2 oldonJion Mo/ Hee ssle of ey oAk
M pehiened maows@ e illikerake  anch \v\C_A/ﬁa.L:]e o
v-uy\b\’\wﬂq bt CandWy WM ook “weames  ane the
pndin vnems b okt yokonad loved thwagle  <live.
T)/_w:\dhak hay Mwuvxv«}},, b such as Nono éolgwﬁx Mouewmed,
Gk Digadedlionce. phpwemarnd, @Qud Tudia Movomerd, he
onverkesd La%,% Nodonad Mpvomerdt who a wis vuvement-
He. %M Pk o wehiondd Shwasle can  swwive ernnh
win_witted e suwppork of wmapes . fesmank, labones,
lowen o vodelle clarsen were andonk swppirks o  Gandid
) Wuaji hotramerhd 1y nahiomed  wovemets  cuccen -
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12.

Underline the basic features of the Prajamandal Movement in Rajasthan.
AR & YSIIUSH ST Y Jend fawivaisdl sl T ST |

MW\M mwwv‘?’ (" Q&v‘w&‘)’t\ﬂl\q Cﬁlw&nl’b@ a'P"Cé‘_

e Pec )anw aftes (339 ku.OuM Soston et GWM There

wead. ,‘bwuv_ Mmaw@% wqbilahq bedoce '33"2 Such au

Jodpua Mmaw&ﬁ TaJl\wa Mwm{f\f bk afhey (923

How MWM M 4o ali w»u,% 5 tstes (exceph

Tm«ﬁmeAD :

Rooyie fesdes oF Pa%\/}awvw Ww\/é/w\mop'(db,

be umdeabived a3 i (1) T%i\/ were  ajmed b q%'fslmﬁ

22lf avd L2 fo pwhble. apqoyhmf Undth Hhe amnprce) of ,bm,

@ ’I’M J\W éﬂ] ﬁbﬂwvm/g’\h (:a COMF)‘\W

WHU ANA rp/vn'vxan (e?MWPM—e W g e)ecw dﬂ@g"'(
wild  foam aaovwwww@-

) <Théhe war e -Aeale oUFtCchAjy/Q El)ﬂdeﬁn Haee

exw a@ 40)1&:»)'\‘@ u»\Wc% 19& Moo . Some ‘{)NjAMawLJ

weve een 10 Le o JOM} of paevad Movermernd <uch

2N ’Jajl"\f% &/:jﬂm&mzlhji (/O\/VJ? Howg  pwend \hﬂwl@/

™M ke&q{\v? < dmnce ,O,\ncl«\azj D—Mﬂpw&_ Ba,aj\wm\-\i«l»
Y Thore W\NMQ;% p»o\MJ o be a ZUOA amd fov

e ME}‘C ha;\'\'oxq&e/u)')'}(_ Aitme ot He Jecnde of 15c0.
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13.  What was the distinctive contribution of Swami Vivekananda to India’s awakening ?
ARe SR o @t fadwg @1 e e wn a2

Swami Viveananda Wy an imi?o/vQﬁ\«-l conds i,

o te Sorin- M?h@mwm? & Twdiaw im 134,
CN\MMU Ho 1A WPUW} ofF ’A}MvHi‘\'\d‘V\MM‘ L) hene

e W\\'xad\ s \N\MLHM &lﬁA(ﬂ\?q"\ohth eié‘rr\u&q‘s with IM.A

Cuop Rawmbpmhon Losmbans,' s Vedand phbbofl«,a.
Ue_ UB*‘\L‘AW Pava A Masgion  im 183’7;99;-

0\)\' a P)qce called Beluy TMM\n Py he. Prapo %J-cp)

A W\M\ u(; ‘@\mo»fc}l W\Mme}'oh m\a/\ Youl" V\‘JN(Z"I H&

Ab'mdcea] Pe Wa\la} Dchcey of ,Aﬂm un foucha.

)o/b\/q»\ bc\«J JAAanath wf»\-mb/jw) He o?'.v\@_a) -H«wqp

’,Emb.m cndhad g Supiriod o, u»mzhohc ﬁlxwlo,soﬂw

o8 Toclian Culbne L%/) Hran %a E\M)ppéﬁ\\’) ﬁ\ru]/silm
T Dov a\u) a4 yvmch - V\ealeﬂ\ sk —co WQJ{MCC ‘o Tm{mu

Peoé‘aw\ %dfea{ B do semow  Huln. \wfw»«}-\ ovypk

He dook Twdiow culhme 4o ﬁwww\ cw}ﬂ«%

He \MM wﬂ“ﬂ Yo Qv\\/\& A%}- @A«JM\\ AKA \N\«ﬂ{”

Pren PMaﬂm auw wl\aclf\ ot d 1MW&Z/\

to Todiom N«ahw& Movererd Lo .
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14.  In what way the ‘Enlightenment Age” transformed the course of European history ?
Y T A T & e B U B HE yer watad fear 2

' Ealighbenmant Aap_' also_known as Lige of Leson
b sevd to be a genssd of 7005 avd 12005 ushem
sowe Ewimpoan cholars slnked opinizg Hod Aesson’
b A vness MM’% kb con be e VM di\'\ﬂJw(/(
W\o\@mg/,%m\ be /3 lved - Cv\bq\«immm} Bovred on Haee
qup\@ M@Lw debvw'w@) (Nt 6w individuad ),
Pt w%a/)o /Mﬂ 0# Yeohon ) M&/Mm /«m;oecf oy others) .
Tk Seaded wibh *\'MJD RBudish  peholirns Thoma
Dobbes , ard Loke oo odm/e, Meoin Hwmies abouk ;vpol/u’w'mﬂ
52/)‘10% Them, {V\D\NQ‘@@M Rowmsane  Volbowre froltney
WP%}EJ neAidvg oF l'hob’ sl ALM}? QQMJJUL]A&MCM
'\Zav»@ s volableancholan of Y ern moud ww/\ Pﬂbﬁlé m‘w)}
Yodleina_ abod DM@Q A\«AM ﬂwueb\ H@\ e e%w-'
Q/i| Evopean 5o Ce}w A/eruw PM@J’ A%M
ooy — all were IMW\WC{“\ £ luimce A ))4 JMbAMWW\M}‘
;&\osbj-g movandn  bleted qLo ik aLwﬁL ivive p@ﬂ
M«\/v& Wewom' 4 condadions \deeJ We,op\e %01@ MM oy
\me e»JnOMwM Woinberr  aws &Wu{ Ae,wmaub»\a

}pa/u\'cd \.Jm&) ah a}/{vem o gMA'LMA afles  Glopovng Pevoldinn
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Paper-I

(Unit-11) (65 Marks)
@10 (65 3F)
Part— A Marks : 10
W - & AF: 10
Note : Attempt all questions. Answer the following questions in 15 words each~Each question

carries 2 marks.

e - T U9 & IS 1 T e W IO 15415 Il 0 9 | Uls ued e ot Prifa £

1. What do you understand by ‘Poonam field’ in Rajasthan ?

TSI | “qAH &3’ |/ 1 F97 qHed § 2
)Paomv\ QM’ o a ot Mcm/m,u/‘ ol QM %

Beomer— Sanchere bl

2. What are mini uphar markets ?
it SR ST W e 2

Mivs yoph 2. markek ane Mg velad ontedy of 2ATs3CO,
ofM to ,wmo& hondbioaft  ndwibvies  m -{23{«4%»
Here  hovdicns bt %ﬂwch of )Qajioq}i«w‘b enhjansk arr
rankoted
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Paper-1

3.  What s the basic theme underlying the National Agricultural Market (NAM) policy ?
AT HiY S i 7 staffed oot we @ g 2
Nadionad QW&UW N\ouljz.zﬁ‘ Policy  undodaves He iw .ﬂa}x}ﬁhﬁi

oF WCM YMAL,% for ﬁM“PJVWVLMﬁ awf( Economic
w%—:{w@-\ w«b,&:’% D\C WG‘-‘U’M@ A ))eAmlm Shedbome

Pladlérm\ e vvwwfk& ( e- Nﬁm) O comce,pjrm«lm«wp unddes
’H‘W) 1‘00/6{‘0\ .

4, What is the curse of Green Revolution ?

Bt whifa =1 sy s & 9
Creem Povolrdion led to }»esm v MP«M}% behveoin

Nolyh\ T\m:ll»ﬂ A\«.:A O’H\UL DAA)S O'F 'P\—ﬂ Cah\r\}r)WI Tﬂ: @Md
sk A&T;Jaj’\ow due ,@D \\f\alA/lCMW\AILQ_ WAL o'F d/\wvwicmp

fernens .

5. Which crafts have been recently granted registration for Geographical Indication in
Rajasthan under mtel]eclua] pro erty Right initiatives of the state ?

g & sifge Tugr Sl ST & BT 2§ A skaweah & dimiter
W%Wmﬁmgﬂr%?

Ple. poltorn ank of Twipwy avd  Thoun arbof
&quv{/\ CL\V%:ECPB\}L\ beem alvesm 4T dngn .
ry v v 7
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Part- B

Marks : 25
-4 I ;25
Note : Attempt all questions. Answer the following questions in 50 words each. Each question
carries 5 marks.
AT

TN T F 3T | = uwE B FES0-50 T B T udH v & 5 e FuiRg €

6.  Explain the meaning of inclusive growth and financial inclusion in India.

ure # frta waE i e Gafe 1 e TRy |

Tl ww% wWigans, 4 ﬂ\h,oco% mvebv i Sall cechibvg
o1C ?)OClEJﬂ aa Ye_ﬁ/\“f\% 01(: coerM A0 Myu’r AN Yewnd vy
SM—\zumb)p, ud)\uM Q%\J melui o meavs  do ):ﬂu\w\
ol pechows of ﬂpc\:}«\ ova ol f&g\nw, o ’H/\écblﬂ\/\%
umolv:_ *F;M ﬁv\mw\o\i PV AT e A

Fyomei IV\C\M\Q/)& 4 __ynéavd 40 achreve

nchegive a\wvda‘fm\} Thoros nclwaive Aw@ﬁofom@\}M'

a_brnoeo kerim .
7.  What is the ‘dual structire’ 0f Goods and Service Tax ? Do you agree with this structure ?
Comment.

K] Ud a1 T S giedl TTaAT 341§ 7 997 Y 3H S | gena € 7 oot ite
M Somthme o\C éoookﬂ, mJ SN e Tax  yneans

ok P Yare twm }»\ou) of doxen wnden 45T - Fank
Codnd 45T ( ‘9\-\ Wwwma A cobed indinse] doxen
Qf(_pM‘ Gtones PJ'—\\ and 5eco\~ﬂ& Shde 45T by /SM»;\AM?
all Ah\}e daxes &xwﬁ Ny, A»Jv\ on quw{)) ) %MA T4sT
o _slye Hog. %a\wﬁ A\'MCMM w w\thWwJ

Mo vyar}y. qeawaﬁhml oxtond oF Mg audw o avd Wi soisd
of FeJWW) »o0 TE iy awsi-e RMJ:J@
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8. What is ‘interest subvention® scheme for agricultural credit in India ?
HRA W Y W % o0 o1 SR s 9 § 7

Todores) 6uJo\/M'M Sekerd fo He ﬂo}jcﬁ ot P
4\/ww%} whore 1 ef¥ess moducey Mo koot
soke on e aapica I8 codit by _compummalb e
bkt Crom qvmwwwﬂ YO WLM - T\J—w)' su)o\/e/w?w oW

0 Y,
sehame s adved _ad AMMMM Mo M bradned
QM%MC»&M bvs wuobw\? Lum/&me

€eonomdr  (onel iAoy 0

9. What are the objectives of Pradhari Mahtri Khanij Kshetra Kalyan Yojana ?
uﬂmﬁ@ﬁa@iwaﬁw%mwg
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10. Discuss the purpose, time frame and target of Mukhya Mantri Jal Swavlamban Abhiyan
in Rajasthan.
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Part-C Marks : 30
WFT-® % : 30
Note: Attempt all questions. Answer the following questions in 100 words each. Each
question carries 1@-tarks.
e

Tt gvl F I | o vl T 39T 100-100 =T H T | A4S U9 & 10 3k FAeiiE €

1T,

In your view, what strategy should be adopted to double farmer’s income by 2022 as
targeted by the Indian Government ?

YRA THR & g (il FeF & S5 g9 2022 9% FEH 6 T K & TN HEA & faw
3T gieahior | R Lo UATE ! =gy 2
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12.

‘The focus of India’s new foreign trade policy 2015-20 is on supporting both
manufacturing and services exports and align it with the Make in India, Digital India
programme and to ease of doing business in India.” Explain this statement.
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13.  What are objectives of the ‘Bureau for Partnership’ in Rajasthan ?

TSI § T Wi s & @ Ry €2
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(Unit-111) (Section — A) (20 Marks)

@Fe-LI) (FFH - A) (20 3i)
Part— A Marks : 10
T — & FE: 10
Note : Attempt all questions. Answer the following questions in 15 words each\Each question
carries 2_marks. ' _ o
e it uwEl & S | T U SR 15-15 Rl 0 S | USRS U & 2\ s it €
I. Name four classical Indian sociologists who have made pionecring contributions to
Indian Sociology.
I AR MGG YRAE TGl & T SaRe SreH Sl aaeens § s avee e
T o <,
M. Sivnivatan . 66 4\’“@»«6’ 560( PN SIM)'\ :Db."’&m,e\/ed/@l'
AN -Qwu), vmﬂceo\ .)waaiwvvd’s & !C T\xol/lq .
2. How is caste traditionally associated with division of labour in society ?

Ord H R 9 1 A1 68 YR o9 fauee 9 geta 2 2

' Vewptna &%W' inJeh LM{//{ om Y clhove af occwbﬂa}z'oh,.buﬂ' I'Yy
\mj’-é’/lfxfegbc_ 0WoJ, ik becane. )«M}:\M asz ’x‘(va)M

|in1> a )wyioj chre-Awslr&n T <M)r€« 5%*&-’\ @\/MM (éé}

M MMJM w: Ce AW acwl,’p»u"loh ,_/,ma( ,g&\}u, I N

(’%Sr )’\AMC.I'? erb) WI-OD 0&861'4(64 fbdq 'h«e {JLMVJD oﬁ—}’\—e occwf?ﬁ.vr'fmq.
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3. What do you mean by the process of Sanskritization ?

Hepfrentor 1 ufsean & amuan = SR § 2 0
Savalathandbn  ~eders to o procers wWhere lowen cost
prople  srend 40(9th3 rneices ot gy Elabser and

Ssknks lemu{w(\) powd s Hesh prachices

4.  What do you understand by Child Marriage ?
Frer T @ 31w HHeR ¥ 2 0

CIM'U W\AW"\;Q YALAWA l...J)AbM whin 4 fvvsxm }xiau
He M&e of fbaw 5 mannied .l rMarge
A Lenalln }Www by  Chidd Momtusge frovertiing
v v : d Y
Ded

5. Identify.four major problems which the tribals in Rajasthan are facing.
I IR g HOES i i@ied S fomenn e o seeniadr qme s € 7
Fou W\ojn}i {?Jw)o\w of M&JA A QAAJAJ))‘LAV\-Q
'U) 50(1'&1 wf/b‘) ,swlx\ ab Au/g%)f’lbws} «;?Mm, M’My
434\4'“4—) Wyt (_ Koo kdi ks Larvn M Casvd —byufpe)a
(1) Umempligwand _and M) ¢ (2) Trofakion fom Yl Az,
— —
;o(fd-\aq (“13 \)\'oww\ oF «H\UUL QYe/)‘\r /‘M;LJ‘L AA(-}W\J"J ‘m'alf\!’; é/"(
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Part - B Marks : 10
-9 w10

Note : Attempt all questions. Answer the following questions in 50 words each. Each question
carries 5 marks.

e |t wot & ST T | T uvEl 1 39X 50-50 Gl B | gl W & 53w i €

6.  Describe the characteristics of caste given by G.S. Ghurye.
Stt.uw. g gRT vew id @t fedwarett @ avi Sl | V4

433 ﬂawyam .adm\/e @wal'hz chonacteuhy  of Todem coxte /32/&)%:

(0 éegmui»ﬁ Division ot Eocl‘ejry — oy ek B o segente
celb gubhiond division - (2 Ampociabiniat %Mﬂz./\?ja
o¢4u,§éJ‘\‘aw wifh u@vaﬁ o s Q Reorbyichow of
Soctod W\DLM/J*;} andh_gocrad nddpeondse - 0] fM?Om/yv(’\oV\ ot cind
Anab iliey on ceodadn se2itovy 5 Resnerhoy, on rrariise
odode coste (—%"Q"}"d’wg po showlsl_be  followed ) .

7.  Explain the social’eonsequences of terrorism.

AT & WA U i JHemsy | 7
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Paper-1

(Unit-III) (Section — B) (20 Marks)
@fz-111) (da9 - B) (20 3i)
Part- A Marks : 10
T — 3T 3% 10
Note : Attempt all questions. Answer the following questions in 15 words,each. Each question

carries 2 marks.

e N PRTT - pappur G g ¥l P NI

I.  What do you mean by delegation ?
qRTA0T § IR T A & 9
Ede(a)w\'l‘o\n 2 a AN, of dsavsley oF dwl'{'\.b/v\j"a
How ove loved do  anolor Aeved) s awn a/v)awdﬂ‘m«-
Th con be  Jovsnward, u.ﬁwww‘f, horizowdad . T con
also Le Cajfé—}ﬂ/\/tﬂeﬂ{ bl z{deaw(j\m a4 }D%odz

Ae)ézaé}\o\f\ . Q/.

2. What constitutes “Marketing Mix’ for a service ?

Tan & “fauu wir & T wofe & 2 )
N\A)Jce}ma whx s A seansce !‘wc\wjﬂ) fovr wv;m’
ackiviies  namels )ijolmczh pice, place (Admnbohion )
¢ ' J -
dmoj\ ‘(’)/\Amo}'\’ovx- M Hee éw)_ ac“—\'wJ’\'e)) op mvace}mg
o m‘-@.oqulpwd&j’ 4»\.} /B)r\ow{pl be camaeh st I
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3. What is ‘Capital Structure’ of a company ?

’Couﬂww—t\) é*)w\aw ' mfa (oMGOAWJ ywéanh M lﬂ)ufo)&}\'ov\

o«f OUW —]"a.lp‘()) O)C la\Aa

Lesm ’ﬁm«l\‘»\? POWNCEA  Such o

Shones 2

e@w‘%a« Rhases TPAJMA

debt iwsbuemends { Lowds, debeondvies

bvahwm Apans
\ - Tw )B)NJAJ‘, Lk

0

kel abeut Hhe asdhs

O'p uw\«ul c«{ja\f\mA av\tl EOMM-’&X c'«fu—L}

4,
el ue 9 § ST i |
Lo cppurtwmend

Distinguish between ‘Recruitment and Selection’.

S.ﬂ)—é‘c Ha\q
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5. What do you understand by ‘Ordinary Share’ ?
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Part-B Marks : 10
w-d 3®: 10
Note : Attempt all questions. Answer the following questions in 50 words each. Each question
carries S marks.

e T uEl F IR T I P ye ST I S0-50 TR B S 1 S U & 5 i uifa § |

6.  Explain wheel, chain and circle communication network.

T, AT T e A I FE |

Wheed, chown and cincle  cmmunacadion *wdhvatin “are
#\a’pw of Loppad commumicadion . T wheel Lomrmumcatim,
Supenion, b Mg bbb of B wheed Cand  subordingbe
e & Mo _ads of ppokes TL-DU'\ e vk alhoved 4o
mbernct Letween Meem . T choud & Vmuviicabion , one
Snsbivale cav communicate Lotha ovJJaq onesuperto), and owg
Subordivade - T cinele Comvn\nw/\'(a}l'b\’)!, ong  pehiton cam Fedle
AN o\ofjiaceJr dwo gt and wed whb awaewe elue .

7. Explain different stagesof product life cycle.
I e @ i fafir s Sgwnet ® JenEr |

toduc kb e:u\c(e adro  Krown ah 'Opw\)ﬂbv\ cac\e' fehaadey
Voo zr\mux Th sty wibh \PMC[f\M\M o s
yaderiabs quJd». WO)»’uhé w\ﬂw( Afley p/wab«c}\m proces,
B M»J%ax c\«awa@ do el Iwdepmedinde preduct
or vk Puodmc ’Wua WAMJ O mew ok m
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(Unit-1II) (Section — C) (20 Marks)

(FFIII) (A3 - C) (20 %)
Part — A Marks : 10
WIT — a7 A% 10
Note : Attempt all questions. Answer the following questions in 15 wordsteach, Each question

carries 2 marks.

[ mﬁ‘;rsa‘féa‘aﬁri‘lﬁﬂrmﬁaﬂwm-lsﬁﬁ%lmm%zaa;ﬁ%ﬁﬁ%i

1.. Write any two objectives of Financial Statement Analysis.

foitr faaor faeaiao &+ < vy faf@d |
Cramond  shademand ambujm hew s fo\\ow{v;)a Yoy oljec%‘cfon

() ThE Ll abed Heo W-C\A'b\/lmm_:n_ ot Yo Com pary La
émlzbw-'\ of ih(ome—ex!o&%we Shodorend .
(2D Second wenon objechued s do ascerkmin  Solvomey of
J J 1
awn w}w\(jame\l’\bv\ b\() dM,L\aA:M 'b1€ ]D‘Jamce Alﬂ&&i" ( A%ASX’
Lebodabrios SMM) .
2. What do you understand by Net Working Capital ?
Y& FEE TSE S o g € 2
\ N&J‘ Wohﬂb\'hﬁ Cq[f\&ﬁ‘év], Py ’Hﬁé MJ?I’)Z\/] O'F'&Y\ C’h?l\)dw’tﬂw—;
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3. Define Social Accounting.
I i H UTSd St |
Socvad Pecowhna iy a Procers ot Leeping an acount of
e d\olvme )M({MC/Q% o1f oMﬁMAMQ‘wh 4¢f1\/14‘\£/s on Aodlé/k
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{M,'PAC}S- _[/Q~ M A (om\m\u}lovm o‘r JQ&J{)DM‘ \,l/\é, Accou.JwU'

oy ‘CO%D/\/’J‘E Soctal] QeAfoMIL\}L*}Lq"

4.  Write any two limitations of Responsibility Accounting.

IR TG & Hig 31 HHE fofgd |

Too Linudedion st Q@POM>)>u‘\ @ccOu»anﬁ :
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5. Write formulae of
(i) Solvency Ratio- (1i) Debt-Equity Ratio
=1 & R fafea -
(i) YTH-STERT ST (i) FOT-WHAT SR
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Part- B Marks : 10
- IF : 10
Note : Attempt all questions. Answer the following questions in 50 words each. Each question
carries 5 marks.

e |4 UoHl o I 1 T gl 6 39T 50-50 IS ° 1 93F UeT F 5 of fuffa &

6.  Give any five differences between Fixed and Flexible Budgets.

fer T witasia 991 4 &g U = odgd |
Fve hfHersmees behveen ﬁxa{ avd  Flexible waﬁ&k NG AN

Q”ouﬂ«(f) (Y Ficed) MJ‘M cwilnble fur @Maw%«ﬂﬂo‘o
woﬂhm Ly %Jrz«l;’a wwmmﬁ“ Whete A | Qm):e Lw&w‘s
one Qn’ AwwﬂWMc zmaavmw"loM 2) el wa ek a?oe»w( have
geope fuy lnahsnv) wheyest {loxble bu(ae:" hew J/LM Aop< .
2b ed] buanJ emsuwnes yvove 4c<owJa\L/LJa whervens Flexble ),»La(%ﬁ
Aaawp ) ﬁxal B«ab]e} A\, 5 aleo\wo wharesr Floxtble Jovl')e:‘
Lnguned  nnovedion - (S)anﬁ budaed b v duechve shile of maw%-wc—’?

= Flexible e}—u " pMe.\pd’we (/shy\e o F nra
7.  Write the meaning of responsibility Accdunting and the names of resporfSibility centres
IR AEisT Fl e d IR Fsi & A farad |
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